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T MWD Tom NIy 325 N%Pwa — The ruling of SN 32 is
understandable, for he maintains that %7 72> Tonm3

Overview

>XIV J2 maintains that if one carries from a (10D DIPR) N9 777 1"7% "0, that
he is Mwo. The reason the XA gives for this ruling is that °XTv 72 maintains that
"7 T T2, that when a person walks, each time he places his foot on the
ground it is to be considered as if he stopped walking and stood still.

This novel concept, while it explains s"X1¥ 72 ruling, seems to be in direct
contradiction with the accepted ruling that a 21 2"792 R"7 2yn. If 725 %00
n7, then there was no carrying of the object continuously for mX '7, since at
each step there is a 7M1 which signifies an end to the previous 77°py. NMBOIN
wonders why don’t we find another explanation for s"X1v 32 ruling, which would
also help to avoid this contradiction.

RRYY ORT? X 7 prxs w29 awp — The "1 asks: why is it necessary for the
X3 to give this explanation, i.e. that *»7 Tmw3 79, for us to understand s"X1y 12
ruling

2977 RINA ORTD JIOWR KD INIY 120 Xnhwa X»v» — the X3 should say instead;
that the ruling of >Xt¥ 32 is understandable, since we do not find something
comparable to being XX through an exempt area where he is 231

J12% N2pw 987 797> — The same question that the X723 asks on the 3329,
who say 21 100 77 X°025% NI XOXAn, on which the &3 asks why is he 211, we do not
seem to find a precedent for this; let us use this same point as a justification why *X¥ 72 says
that he is 7o, and we will not have to say such a w17°n that *»7 72> 7771, which causes a
difficulty, as we shall see.

NR2YY SR RP P92 77T 2wn 9RT — for if you will say that since °X1v 12
agrees with the 0on that he is 21 in the case of VD 717 X097 NN P,
therefore we cannot attribute the reason of 27 RINA XD IIWR K to X1y 13, for then why is
2»n P, this therefore forces us to say that the reason of X1y j2 is “n7 72W2 7771, which
explains the difference between X°X177 and P7117, nevertheless, this is not sufficient —

P2 7IWT Y70 XY "NoR K77 — because at this point the X3 did not know yet
that °X1v 12 agrees that 2977 is 2n. How can we prove this? -

SRTY 129 "1 15 ¥7 9R7 — for if at this point the X3 knew that X1y 12 agrees
that 121 717 is 2°°m, the X3 should ask the same question that it asks on the
1127, on N1V 12 as well —

Y910 IOWNR RUT VIR PR — concerning ¥WWIM P from a 77 X°LLOY nan
100, how can *X1Y 12 say that he is 217, ‘where do we find etc’. Since the xn3 asks
only on the 1127 and not on >X7¥ 12, this proves that at this juncture, the X723 was unaware that
X1y 12 differentiated between XX and P77, rather we assume that he is always "o, the
question then remains, at this juncture what forced the X713 to assume that *XT¥ 2 maintains
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M7 T T2n, when we could say that he is Md, because there is no precedence that XX
n°m72 (MWD QIPR) TIT MWD MY is 270

ARP 92777 PrRs 11929 790 — The v''9 answers that this is what the X723 meant
when it said that s"X1¥ 72 reason is because he holds "7 72w 7277

NP 12% Knbwa — it is understandable why according to “8?¥ 32 he is "0

MWD OWN2 RINVK ORI nown 1995K — for even if you can find a similar case in
the yown, where something was transferred from one mwA to another through a
(Mo opn) N°ond, nevertheless *X1v 32 will maintain that he is 2 w5

AT TRIYD TonnT — because YT 7AW TR

912 JSWR N2 wpn J2°% K98 — but according to the 3121 there is a
difficulty, namely, where do we find that in such an instance etc., he is 2n.
mdoIn answer may be understood as follows. The X n3 is aware that the 7127 are 212 in the
case of YD 77 X°VHEY Mann XX, therefore the X3 assumes that the 7327 have a precedent
for such a 7Rx7 (even though the X713 does not presently know what that precedent is). The
X713 also assumes that XT¥ 12 may be well aware of this precedent, and since nevertheless he
maintains that the X°X is 19, that gives us sufficient reason to assume that Xty 32 holds 7271
M7 T2, and therefore even when we will find the precedence of the 1127 why they maintain
he is 211, we will still understand why *XT¥ 12 1s TVB.

If however the X723 were to explain *X1v 12 the way moo1n suggested (that we do not find such
a 1xx17), then eventually if we were to find a precedent, we would be forced to find an
alternative explanation for *X1¥ 13, therefore the X723 chose the explanation that would be valid
in the eventuality that we would find a precedent for the 7127.

SRIY 127 YT DY D by — In the bR Tnbn the X103 there asks:
““according to the opinion of Xy 32

29IPY 29277 NIWA2 NIRRT Yy 29mn» 278 PR — a person will never be 291 for
carrying 2'"';792 nYaR '7,

"WEM AR AR 9D By ammw ond eyt — for it should be considered as if

rested at every K and he should be "5, because he did not carry the complete '7
mnR without stopping -

YoIPa 7% nown 1wy — and the "now1° 795N answers that we can find the 21n

of 7"772 nwaRk "7 N2y if he jumped '7 707 '7 N> nnn while holding an object, for then
there is no "»7 MY To0n.

N279 RY 20w KD 1997 0w — our X} however, does not consider this a
valid refutation of "xrv 12

9 RT9A% RNODT 259377 MIWN2 NI 7T (2,2 07 WPk PTTR MARTD — since the X713
says in P97 P19 that the 21°1 for carrying 9''792 MK '7 is a "190n mwnb 79957

7o Twpn K9 92791 — therefore the X123 asks no questions on this »"»77 from
M7 MY Tonn, for the n"no7: teaches us that in this instance of 2"772 AR '7 1°2vn he is 270
despite the general ruling of "7 723 72n.
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P qup 391 — and similarly concerning the concept of 7w ?p according to
y's

AT RIImw MsT 23 YY R — even though it is as if it had come to rest,
nevertheless

29977 293977 N2 NN "7 212 — when one throws 2''7792 N '7 he is 291
293777 MWD NIRRT TIN MR D 1R K9 — and we do not say that it
should be considered as if it came to rest within the 2'"'7392 nIaR '7, the reason

being as just stated since 1"772 MR "7 PaYn is a n"M9%n, it supersedes any other concepts
including X7 01w 2 79P (and MW7 WD TomN).

% Xpoon R'"29 — The X'"29 is unsure of what will be the ramifications, of the fact
that the n"n%%7 disregards the concepts of "7 NN M3 AVIZPY AT TN ToA.

292977 M2 MIRR 737 1195 — since concerning carrying 9''7793 R''7

AT TR TRrR MR KD — X1V 12 does not maintain that a7 T2 91, since he
1S 271

NIV 729 T TR RRYY2T 23 YY X — even though °X1¥ 12 maintains in general
that 77772 is "7 722, but there is a special dispensation when it comes to 1"772 "7,
where we disregard the concept of *n7 T2 727, the question therefore arises —

WY AR NIAR "7 I wEh TAY Toer DRI 139 290 ar — whether Xty 13 would
maintain that he is 217 even in a case where the person stopped to rest” in the
midst of carrying an object n¥aR '7, or he would not be 2m.

The two sides of the issue would be; do we say that since every T7mn is TmWwd, and
nevertheless he is 21 for 7"772 NAR '7 v, which may lead us to conclude that the n"n%%7
teaches us that there is no Mv» for stopping in the midst of NMX '7, and one is always 217 if he
is 7"772 MR 7 7wy, regardless if he stopped in the middle or not’, or do we differentiate
between a conceptual stopping like 72> 7271 and a real stopping, that only in the former,
does the n"n%%1 override the conceptual stopping and he is 2>°11, but in the case of a real stop
or rest, however, he would be M3, since he did not carry nnx '7 continuously.4

MR PaIRY 77 72 XY 2K 197 — and a similar question would arise, if the person

who carried something more than X"7, did not stop outside the R'"<7, and the
object came to (a complete) rest not through him -

17°% MR 9w Pao — for instance that another person took the object that he
was carrying from his hand and the actual 7m17 was not made by him —

RY AR MIRR 'TH PIT nT TS Tvhn 1R ax — do we say that once he is
outside the X'"7, then we say %7 72> T97» and he would be 2>n, or not;

' According to the 1327 who argue with >X1v 12, surely the 17 of 21 7"772 X"7 7°2y» is only if he did not stop
while traversing the "7

% A stop is considered, only when one stops to rest, if however one stops merely to adjust his load, that is not
considered stopping ¥"15%.

? Meaning that we do not say *»7 y5n NRii2 193 N3, but if he would actually put down the object X"7 7102 he
would certainly be 7119. See 0;772K *10

* Alternatively put; does the n"»%%71 a) negate the Mwd of N1K '7 TIN2 77y and therefore he would be 2m;

or b) does it negate the concept of *n7 72> 7271 by 1"772 R"7 2y, and therefore he would be wb.
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should we would consider it as if he made a 7117 as soon as he stepped beyond the X",
because now we could reapply the concept of *n7 Tmv2 127n, since we are outside of the
original 3X"7, or do we say that the n"n%217 teaches us that in regard to 1"772 R"7 702y there is
no such concept as "n7 72> 7271, and therefore he is Mo, since he did not actually stop and
thereby make the 7m37.°

R29py 927 up 197 — and similarly we can question what would be the 7
according to ¥''7, who maintains the concept of X°»7 1w "5 TWVIDP,

NIAR YRy I ROAT AW ond K aRk — would he say that 7y sno HUﬁP
N°n7 outside the X''7, meaning that -

TR IN 292 IN NN 7uUp BN — even if it was caught by someone else or it
was caught by a dog or it was burnt, before it landed’ he would be 2°n

J99%KR R NIAR ¥3IR 70T 1190 — since we do not say the concept of °n3 VYR

X°n7 annaw while the object is traversing the initial R'"'7, therefore we do not say
91 109p, even after it passed the original X"7, and he would be 75 because he did not make
the 7m37, or perhaps only in the initial X"7 do we not say 7012p in deference to the n"»%%7, but
once the object traveled the initial X"7, then we may reapply the concept of "1 701%p, and he
will be 2»n, because he made the 17371 by virtue of the 121 71%p that transpired outside the X"7.

Dop® AART A 9299 R'"'aw® 871 - It seems to the X'"aw=, that according to
3231710 929 who said previously

nOTH narR e masnt — one who was moving his belongings from one corner
to another corner in a >"771 without any intention of taking them out to the 3"777

=wD NI 27y 792 — and changed his mind about them and took them
out to a 1"771 he is MW

"K1¥ 129 7199 %5 — this aforementioned 11m° *27 does not agree® with "Xt¥ 33, who
maintains °»7 YD 7200

290 I OMT 7RIS Thh WRT NIy 3297 — for according to N1y 32 who
maintains that "»7 721> 79177 he would be 297 in the aforementioned case, because

whenever he changes his mind in the *"777, and decides to take the objects out to the 7"717, then
as he is walking in the >"717, every step is a 137, which nullifies the original permissible 777pY,

> We may even accept option ‘b’ in footnote # 4, that the 2"»%%:1 negates the concept of T21w> T2, but only
within the confines of the original &"7. For an alternate interpretation see footnote # 6

® In Summation: Do we say: a) that the »"%%%7 tells us that in the original X"7 there is no 22 of 7Ww> Torn
because there is no M of 7MW at all within the X"7. Once outside the original X"7, however, we revert back to
the concept of 7293 7271, Or do we say: b) that the n"n7%7 tells us that concerning 1"71172 X"7 there is no concept
of "n7 1My Tonn at all.

If we assume option ‘a’, then if one stops in the middle of the original X"7 he is 211 because there is no 715 of
X"72 72, and if he did not stop after the X"7 he is also 21, because outside the original X"7 we do say 77mn
w2, If we assume option ‘b’, then if one stops in the original R"7 he is 79, because there is no »"nH7n
concerning actual stopping, so he did not carry consecutive X"7, and if he did not stop outside the original X"7, he
is Mo, because the n"7717 tells us that concerning the 75871 of 1"7772 X7 N72vn there is no concept of 7MY 72N
°n7, and in order for him to be 211 he must either actually stop or put down the object. See nnX naw.

7 See “Thinking it Over” # 3

8 See 27717 WY 1 Hw NAw that the X"awA contends that the 7397 is not like X1y 12, thereby rendering moot the o0
of the X"2. See ‘Thinking it Over’ # 4
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and as he takes the last step out of the *"771 to the 7", there is a new 113 NPy (following the
previous 1913 N7, which is "7 yon 7Py, and he is 27

(aw? x,89 matns) MY PR WII2 RI772 119 319 — And this is also evident from what

we learnt in the beginning of nyaw1 Y98 P95, that 1am *27 does not agree with *Xiy 12,
concerning “nT 1AW TN

Summary
According to °XI¥ 12, who maintains 27 T2v2 7277, nevertheless 1"772 X"7 %297

is 2. According to the "n?w1° 720 he is 21 only if "7 M0 731 "7 NP nnn YR,
otherwise it is MWD "7 7MW 7271, According to the *%22 7Tmon, the n"n%%
overrides any other concepts and he is 217 even in a regular case of X"7 772vn.
There is a question as to what the 73777 would be according to *Xiv 12 if one
actually stopped X"7 7103, or did not stop X"7 7nXY; the resolution of which, is
dependent on, in what manner the n"2%%71 negates the concept of "7 721w T77mn.

Thinking it Over

1. How are we to understand n1d01n original question, that the X723 should have
given an explanation for °X1¥ 72 that will be inconsistent with his ultimate
opinion?

2. What are the relative merits of the different sides in the X"2°7% &poon?

3. Why does not m»oo1n ask according to ¥"2 what would be the 17 if he stopped
within the original X"7, just as he asked according to '™y 12

4. What connection can be found between the statements of the X"aw" and the
x"3m 2!

5. The X"2w states that 7371 27 argues with X1V 12. How is it conceivable that
"4 could agree with *xry 122"

® The x1m3 there quotes this X" of 13 *27 in an attempt to refute the Xn»*pIX there; the response to remove this
refutation is that the Xnn’PIX follows the opinion of *X1¥ 72 (and not of 1171 °27).

10 See nnnar 10 X"OW K"WAN

' See footnote # 8

12 See o 1"7 2,82 N1AI03 'ON



